by The Campus League of Puzzlers

Solution to YOU TOO, SHERLOCK?:

Each of the strings of characters identify
a YouTube video of slow motion dancing (or
other movement). The word Sherlock in the
title clues Sherlock Holmes, and the videos of
dancers are a reference to the Dancing Men ci-
pher. The pose of the dancer at the given times-
tamp corresponds to a letter in the Dancing
Men cipher: taking the letters in the order given
spells the answer GAWKER. Congratulations to
CoyoteCreed, Lewis Chen, and Moor Xu who
were the first three to submit the correct answer
to last week’s puzzle on our website.

This column is the fifth in our ongoing series.
When you think you know the answer, submit it
on our website (http://puzzle.berkeley.edu).

Across
1 Container for sandwich, drink, and cookies
7 Jackie Kennedy'’s hat
12 Plaza Hotel girl
13 Trojan war epic
14 Hypothetical storage of memory
15  Opposite of verso
16 Cinematographer’s org.

17 Simpler
19  Sailor's shout
22 Uno,due,

23 Blind ___bat

26 Undo noticing something
28 Remove brine

30  Spanish article

33 Car part

34 Dress again

37
38

39
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Week 5: Boxed In

Reddish brown dye
Uncaring about right
and wrong

Prepare for a fight
Melodic container

Down

Harper or Bruce

Partner of radius

Winter libations

About, in dating
Tax-advantaged medical
account

Leader of the Holograms
Kidd or Sparrow

Islands in the Seine

Legal

Not now

Loves

Curvy letter
Captured

Spock, e.g.

Type of colony
Nasty look

Sitting still, in yoga
European capital
Indian water buffalo
Sushi seaweed wrapper
Quatrain rhyme
scheme

Zodiac animal
Ostrich relative
Moose relative
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